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Which number line represents the
solution to the inequality below?

c<19
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Emilio joined the bowling club. He
pays $30 a year for use of the local
bowling lanes, $5 for each time he
plays, and $1 for shoe rental. The

table below represents E
total annual cost in terms
number of times he bowls.

EMILIO’S BOWLING

[ 4 b
(Cost in Dollars) | (Number of Times
Emilio Bowls)

30 0
36 1
42 2
48 3

Which equation represents this
relationship for one year?

A C=30+6b
B. C=30b+6

€ pocze

D. b=30+6C
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] The table shows how Griffin’s age
and Keegan’s age are related.

AGE COMPARISON

Griffin's Age | Keegan's Age
(years) (years)
6 3
8 5
10 7
12 9

Which equation shows how k,
Keegan's age, is related to g,

Griffin’s age?
A k=g+2
B. k=g+2
C. k=g+3

D. k=g-3
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Enter the value of 3xy2-12+4
wheny=5.
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The amount of money, x , that Amy
may spend on groceries is
represented by the number line

below. The integers represent whole
dollars.
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What inequality represents this
situation?
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Which expressions are equivalent
to 8x + 2dy + 162 Choose the
THREE that are correct.

A. 2(4x+12y +8)
B. 4(2x+6y+4)
C. B(x+3y+2)
D. 12(x+2y+3)
E. 16(8x+8y+1)
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The sum of a number x and 2,496 is
17,344. What is the value of x?

A. 12,384
B. 14,848
€ 15152

D. 19,840
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Select the TWO equations that have
t=5 as a solution.

A 4+t=10
B. 6xt=30
€. tx5=10
14

D. t+9




